I (2000)ALSI NI B (2200) AL MBEANA §:(2210)2AH - BY M (2211) 2 29I M2 IAIE : (120) 2 & = Z b 2] Y]
L = S == S i}
e = ot = pJ ES
.8 NE . MAE = Of & % = oA
2000 [2 170,307,581 & 32,605,641 X 0 & 1,776,000]
NI I 215,235,656 192,528,193  22,707,463| [JI 10,426,464 = 119,970 1 0 ]
2200 [=2 170,307,581 & 32,605,641 X 0 2 1,776,000]
EAYMS AN 215,235,656  192,528,193) 22,707,463 [ 10,426,464 = 119,970 0 ]
2210 [2 170,307,581 & 32,605,641 X 0 & 1,776,000]
A - 2 215,235,656 192,528,193  22,707,463| [JI 10,426,464 = 119,970 1 0 ]
2211 [2 9,088,418 & 11,458,399 X 02 0]
EAS M2 31,075,021 26,471,508 4,603,513| [ 10,408,234 = 119,970 0 ]
100
2 A0 & 194,438 222,408 A27,970
120
AN A 194,438 202,908 A8,470
201
ot A | 57,278 55,948 1,330
57,278 55,948 1,330|01 et
o B4 24| = 22,500
oBZ222 2 HA = 1,048
o2Yag = 13,230
o S e = 20,000
o A& ZHI R = 500
202
oF il 131,820 141,620 9,800




T (2000) APSIJHEHI B (2200) BAUMBEIZIHA B (2210) 2 - & M3t (2211) 22491422 HIAIE: (120) B & = | EENEGR)
L = d @ = | oy i}
Ol & o AF = 9l =
2. N AAE = of & = oA
73,500 83,300 £A9,800/01 2LH0HYI
oBAIAM PRFX = 73,500
58,320 58,320 002 04|
oHM 6 ot
15,0002 x 18 x 18 x 128 = 58,320
203
=T 2,400 2,400 0
2,400 2,400 003 AR AL FZH|
oA AR = 2,400
301
At A2 2,940 2,940 0
2,940 2,940 012 JIEtEAS
oHDH0IES MY ASIZA W29 25 24
35,0009 x 2% x 423 = 2,940
200 [2 9,088,418 & 11,263,961 X 0 = 0]
AL Gl &F 30,880,583 26,249,100 4,631,483 [Jl 10,408,234 & 119,970 0 ]
210 [2 9,088,418 & 5,673,436 X 02 0]
XA 25,170,088 23,814,713 1,355,375| [Jl 10,408,234 & 0 0 ]
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ZH(2000) AFSIDHEEH] 2 (2200)EHLMESHIHMH &:(2210)22H - &A HISt: (2211) 24 A 22| MIAIE: (210) 2 R ALY (2] [ dH]
i = bS] ] c m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
oMM - QA2 AlZ = 245,000
(21) 245,000
ool ARHIE A = 1,600,000
(21) 1,600,000
307
0I12H0| A 344,505 317,605 26,900
319,505 292,605 26,900|02 DIZtAAE X

oc2Zo 2B HE 29| = 215,000
() 107,500
(21) 107,500

oMEHIZHH XFZA2I|2 2
2,310,0002 x 490 A = 9,240
(=) 4,620
(%) 4,620
CHUMEARMAIY (£) = 88,000
(%) 44,000
(21 44,000
oOhE 2 AIALY = 4,865
(21) 4,865
oHE2AlHEOR HB2EIH| = 2,400
(21) 2,400

25,000 25,000 005 QI2tQIE2




X:(2000) AFSIJHEEHl  2H:(2200) AL MESHHINA Bt (2210)2H - B Mg (2211)2A 9 Mae HIMIE: (210) B EAFY EEMEEERCE]
i = = E] o m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
oRX I 22 HX =] = 25,000
() 12,500
(71 12,500
308
XX SRS 11,486,211 10,484,176 1,002,035
o1&
11,336,211 10,484,176 852,03501 KXISHHMIAEERZ
oUAME . FK0F HURE 12,324,0002 x 70% = 8,627
() 3,696
(71) 4,931
o A& M HAF Ol AF Al 185,360,000 x 70% = 129,752
(%) 55,608
(21) 74,144
o050 2 MAAAOIAO O2H| X
332,400,000 x 70% = 232,680
(%) 99,720
(21) 132,960
oA Oelo] HAAE 597,980,000 x 75% = 448,485
() 149,495
(71 298,990
oBhMY AL Xt A Y| 137,500 x 659 x 123 = 107,250
(2) 53,625
() 53,625




0A

:(2000) At 3100 ]

Mg (2211) 224 | zre| HIAIE: (210) B = At

el dE]

]

n
=

03
rt

St

NI AIAIE

Ol

&t = p)

P

CHEEES(ZEIFAR 58)

2,602,574,000& x 30%

(%)
(21
oBE LY Ol A 51,240,0008 x 75%
(%)
(21
odR0t HYES 618,682,000& x 75%
(%)
(21
oFR MZY HAAN L IINM P
20,000,0002 x 75%
(=)
(%)
LRI HTAL 1,895,548,000& x 70%
(%)

(o1)

o 200l &2k 114,680,000& x 50%
(1)
odAH e B 15,800, 000-& x50%
(1)
oz¢delH23 995,964,000& x 75%

(=)

o1

780,772
338,076
442,696
38,430
12,810
25,620
464,012
154,671
309, 341

15,000
10,000
5,000

,326, 884

379,110
947,774
57,340
57,340
7,900
7,900
746,973
248,991
497,982




It (2000) AFBIOHEEHI  2H:(2200) BHU MBS AN B (2210) 22 - BA HIgt: (2211) 2 A2 M B HIKIBt: (210) 8 E ALY EENEGR-E)
ot = PSS = im} -
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM = A
oFLALSINEH 2Y 146,500,000 x 75% = 109,875
(%) 36,625
(1) 73,250
CHYMBAMAY (Al2)
1,746,800,0002 x 50% = 873,400
(1) 873,400
oXUNMABHME 2 542,000,000 x 75% = 406,500
(%) 135,500
(1) 271,000
oXIASIS4& THEAY 82,400,0008 x 50% = 41,200
(1) 41,200
oNE g2 EBAY
102,374,000 x 50% = 51,187
(1) 51,187
oFXQANAEY HEAA MY 29
12,742,0002 x 75%. = 9,556
(=) 6,371
(%) 3,185
o220l 22X A& L 24|
4,373,0008! x 75% = 3,280
(%) 1,093
(1) 2,187
oXMHHDRRY WS OHl (A2)
300,000 x 32 x 1/3 = 3,200




ZH(2000) AFSIDHEEH] 2 (2200)EHLMESHIHMH &:(2210)22H - &A HISt: (2211) 24 A 22| MIAIE: (210) 2 R ALY (2] [ dH]
! =2 01|/\F0“@E|EH| mi _
N ERLE o N RN & = ’! =

(2) 3,200

o3| - XA EE o 2H| X
3,423,881,6002 x 60% = 2,054,329
() 342,388
(71 1,711,941
ollE - HAW HATHAY 62,000,0009 x 75% = 46,500
(%) 15,500
(21 31,000
oL QIoX BEAMY 876,600,0008 x 60% = 525,960
(%) 87,660
(71 438,300
oXIOIEMHRI| At 294,060,0009 x 60% = 176,436
(%) 29,406
(21 147,030
oAOtLEX O 2H| X 254,972,0009 x 60% = 152,983
() 25,497
(71 127,486
o FEE2 EAG AE Y| 27,000,0009 x 30% = 8,100
(71 8,100
CUBMEUNH 2 240,000,0008 x 75% = 180,000
(%) 60,000
(21) 120,000

oFMABAH M2 AN ALY

6,000,0002 x 25% = 1,500
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It (2000) AFBIOHEEHI  2H:(2200) BHU MBS AN B (2210) 22 - BA HIgt: (2211) 2 A2 M B HIKIBt: (210) 8 E ALY EENEGR-E
L = S == S i}
of Ab o A = Il =
.2 E NS AAE =2 o & % = A 2
(1) 1,500
oSt AL S EIALY 5,000,000€ x 16OHA x 50% = 40,000
(1) 40,000
o X 2HIXI& 1,038,306,0008 x 70% = 726,815
(=) 207,662
(1) 519,153
cHYES SEHH 2% (A2)
117,000,000 x 50% = 58,500
(1) 58,500
oSHUAAUSE AL (HB EAHARH)
68,444,000& x 75% = 51,333
(%) 17,111
(1) 34,222
oXIHEAHAIY QI XA 37,018,0008 x 50% = 18,509
(1) 18,509
CQUAE . A0 HAPEALS
228,000,000 x 174 & = 228,000
(1) 228,000
SNOIZZSET S=S2Ae| P24+ = 4,043
(1) 4,043
cge2 1,466,400,0008 x 70% = 1,026,480
(2) 733,200
(%) 293,280
o, MM =20/ X 193,800,000 x 90% = 174,420
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X1 (2000) APSI R BH:(2200)BHLMEEAINM B (2210)2 A - BA N8t (2211) 22102 Mg HIAIBt: (210) 8 R ALY IEERE)
ut = "SI = R == ] Il
o & = &k = ) =
.2 E NS AAE =2 o & % = A 2
(=) 155,040
(%) 19,380
150,000 0 150,000(06 DI 2HUHSEXS
CcSHUF(NFHEAMNY) 300,000,000 x 50% = 150,000
(1) 150,000
403
MXSHS 10,670,267 8,175,410 2,494,857
A=01A
10,670,267 8,175,410 2,494,857 |01 XtXISHHI K22 X
osUHEAZ AHIA A
9,750,000,0008 x 83.3%. = 8,125,000
(2) 6,500,000
(%) 1,625,000
CHANQAAEI SEUAIS
2,432,376,0002 x 75% = 1,824,282
(2) 1,216,188
(%) 608,094
oRUBAHA HXF| 562,500,000 x 50% = 281,250
(1) 281,250
oSHUALSE ALY 273,393,000 x 2/3 = 182,262
(1) 182,262
OBHAIZIO| YR AL = 2Y = 257,473
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ZH:(2000)AFSIOHERH] 20 (2200) 2 AL MEE M & :(2210) 22 - &3 Mg (2211) 22 M 2e] NIAIES: (220) KR ALY (=3[ dE]

L = S == S i}
Of &F ©h &t = 7l ES
T 2.8 NE HAE = O & M =AY
3,120,480 646,072 2,474,408/01 MXSHHINEZS
SHAMESQQAASE 2 (XL0IY)
7,118,200,0002 x 30% = 2,135,460
SHAIZE AFSHAE 2 (XL01Y)
570,699,000 x 30% = 171,210
oftMHE T} X
8,000& x 332% x 63 x 30% = 4,781
oZSMAEI LAAR (0ISHX)
1,200 x 46,000 x 30% = 16,560
OoMASE ZHST AN 23
15,0002 x 1,500 x 30% = 6,750
cURL Y RUUESEA XY (RS 1H)
1,000,0002 x 3MHA = 3,000
oioly HSAX 25,0009 x 4,000% x 20% = 20,000
oHEEHLQ URAR
1,100& x 11,000% x 183 x 30% = 65,340
o IIFASAY 2002 x 50,0009 x 43| x 30% = 12,000
o NEAHXRA 29I
200,000& x 94 x 128 x 30% = 6,480
oXIOh& X 22 53,370
AR 2| 200,0002 x 100 x 3¥ x 30% = 18,000
2t H 30,000% x 33 x 90 x 30% = 26,730
I RHRH 20,0009 x 120 x 128 x 30% = 8,640
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0 (2000) AHEIOHEIHI B (2200) AL MBEZIA BH:1(2210) 22 - B I (2211) 2219 s 22| NI : (220) KR AL EENEGREED
o = S R im)
of & o Ak = p ES
.2 HIE A = Of & M = oA 2
STHIIHAIZE T Sty
25,0008 x 256% x 128 x 30% = 23,040
SHAMESALYAST OHE Y|
7.7008 x 2,300% x 30% = 5.313
MBS QUAL X OAEH|
5.5002! x 2,300% x 128 x 30% = 45,540
SHUTSQAALEAIX MM 102,528
3d0lgt 100,0008 x 1072 x 128 x 20% = 25,680
3-54 130,0002 x 1229 x 128 x 20% = 38,064
54014 160,0008 x 1012 x 128 x 20% = 38,784
SUTET S22
30,0008 x 2512 x 128 x 30% = 27,108
SEUENY ALATAIY
30,0008 x 10,000% x 30% = 90,000
oHEZUZE AT 6,00080 x 25,000% x 30% = 45,000
COIMAMAL AAXE HAEY L WS4 29 = 150,000
oMt HSX 2A2H X = 32,000
STHIIXIDH=0! 2H2lAY Xl = 105,000
402
DIZERH= 0l 77,000 155,520 AT78,520
&
77,000 155,520 AT78,520(01 QItRHEE X
oBMEXEE FHPY (CIIEFEXIZII) = 35,000
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(2000 AFSIOHEHHI B (2200) BAL MBS Z A 8 :(2210) 2 - B M (2211) 2219 422 KIAI! - (220) Kt HIAFES EENELRE)
L = S == S i}
e = ot = pJ ES
.8 NE . MAE = Of & % = oA
CZHAAIFH PL(NSSMT S) = 42,000
403
XhXI EHRI S 390,200 306,935 83,265
Xeold
390,200 306,935 83,265/01 XIXISHRIX =22 =
oBtMIY S HEE XEIIE T4
40,000,0002 x 2IHA x 30% = 24,000
oBHAIH B HEE BAMWA At
2,700,0008 x 20= x 30% = 16,200
oHY By X2I|(#H)7Y
600,000,0009! x 14! x 50% = 300,000
oAlSS BIRIAPTEIR FOIALMEH &X
100,000,0002 x 50% = 50,000
405
XHabz S| 1,798 31,310 29,512
1,798 31,310 £29,512|101 AL 2EF S|
ocHYHZAELZ HFD P(11004)
1,634,0008 x 1.1 = 1,798
2212 [2 14,582,933 & 9,166,786 X 0 & 1,776,000]
AL 25,525,719 25,489,617 36,102 [l 0 = 0 m 0 ]
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0 (2000) AHEIOHEIHI B (2200) AL MBEZIA BH:1(2210) 22 - B Mg (2212) 8 2 22 HIAIEE: (120) 3 &= 2 b EENEGREED
o = S R im)
of & o A 2 ol =
.2 HIE A = Of & M = oA 2
2,400 2,400 0|03 AIMFT AR FAY|
cEAURIYRFT = 2,400
301
SRS 7,900 30,724 22,824
5,500 5.500 0/10 BAIMHI24Z
NS ALHYUACH DIEAL ALY
5.0008! x 500% = 2,500
SEHMEZ MEIIY AL SAY
5,0008 x 43| x 150 = 3,000
2,400 16,400 ~14,000(12 JIEH2 &2
CRIHSACHH A0 HISAL BSHY
40,0008 x 6% x 103l = 2,400
200 [Z 14,582,933 & 9,074,006 X 0 & 1,776,000]
AR 0 &t 25,433,029) 25,373,953 59,076| [2 0 = 0 0 ]
210 [2 14,582,933 & 6,787,267 X 0 @ 1,776,000]
EEAY 23,146,200, 22,105,088 1,041,112, DI 0 =2 0 0 ]
307
QIZHoI A 30,000 30,000 0
30,000 30,000 002 LIAAMEE

_20_




X1 (2000) APSI R BH:(2200)BHLMEEAINM B (2210)2 A - BA NIgt: (2212) 8 A e HIAIEE: (210) 8 X Ak SRR
t = o A o 5 | oy Il N = )
.2 E NS AAE = s M= A2
ocHESINST2 AN 30,000
(2) 21,000
(=) 9,000
308
MXSHS 765,000 0 765,000
ol &
765,000 0 765,000/01 MHXSHHBAEXS
oMEHY SEME 97,000
(2) 97,000
oM CIYAH ZtelH A(3MA)
1,113,332,0002 x 60% 668,000
(2) 334,000
(%) 334,000
403
XRSHS 22,351,200 22,075,088 276,112
X=01A
22,351,200 22,075,088 276,112|01 X SHHA=2EX
CHANATNSIUHES ALY
30,302,820 x 59CH x 75% 1,340,900
(2) 893,933
(=) 446,967
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It (2000) AFBIOHEEHI  2H:(2200) BHU MBS AN B (2210) 22 - BA NIgt: (2212) 8 A e HIAIE: (210) 8 E AL EENEGR-E
2
_BP_ _ = w&%@egm i} N = ) i
X BHBNIB AN = o A | = oA 2 N
oS0 EHIISSEMIAIE HX (1HA)
1,500,000,0008 x 50% = 750,000
(2) 750,000
oH| A0 & XI ZHIAF (844 )
6,500,000,0002 x 75% = 4,875,000
(2) 3,250,000
(=) 1,625,000
CZBZERIIBAIL SH=(5)A)
6,900,000,0002 x 30% = 2,070,000
(2) 2,070,000
CSHIISHEAILEXI(2IHA) = 3,570,000
(2) 2,070,000
(=) 1,500,000
oSASMYIIZRHIAIEAX (2HA) = 1,770,000
(2) 1,062,000
(%) 708,000
o A2AIE HXIAFS (5HA)
13,000,000,0002! x 30% = 3,900,000
(2) 3,900,000
ocUIISHY HAAMY 170,000,000 x 75% = 127,500
(2) 85,000
(%) 42,500
oML OIME| 2 2SHALY 1,833,230,0008 x 65% = 1,191,600
(%) 641,600
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X:(2000) AFSIJHEEHl  2H:(2200) AL MESHHINA Bt (2210)2H - B Mgt (2212) 8t @ 22 MIKIEE: (210) 2 ALY EEMEEERCE]
ok = 7S I R == ] m}
O]l At o At = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
() 550,000
O EHOHAE 22 5} AL 2,533,330,0002 x 65% = 1,646,600
(%) 886,600
() 760,000
o ZUMEZRAGIAY 1,553,330,0002 x 65% = 1,009,600
() 543,600
() 466,000
oM E2TI5H OYAIA AX
166,666,000 x 60% = 100,000
(=) 50,000
(%) 50,000
220
KR AFSS 2,286,829 3,268,865 N982,036
206
RS 2,100 2,100 0|oOFMZES S| 7,0008 x 300%E = 2,100
207
of Aol ety| 430,000 0 430,000
430,000 0 430,000(01 22H|
oG YIL Y EEYN HEEY
430,000,0002 x 14l = 430,000
307
0I2+0| & 550,500 456,755 93,745
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ZH:(2000) AF2) JH 21| (2200) B H L MESIAIM & (2210) 22 - 8t Mg (2212) 8t d 22| MIAIE: (220) REMIAFS S ™2 ]
t = =T m
oo e " & =
a2 & NE L MAE =2 A o = A
o2 AOIAM AT MY DX KIS 30,000
oczaZ MY Dl Xeldl 50,000
403
XX EHS 600,000 2,250,000 A 1,650,000
AN=201H
600,000 2,250,000 A1,650,000(01 RIXISHAAIZE X
o CE 2RI (2 A) 450,000
ostFNEHEH AHEHI 600,000,000& x 25% 150,000
[=2 146,636,230 = 11,980,456 Xl 0]
158,634,916 140,567,068 18,067,848 [l 18,230 = 0 ]
70,610 106,900 N 36,290
70,610 106,900 N 36,290
201
B2 AH| 34,320 27,900 6,420
24,820 26,400 A1,580/01 Et2AH|
o bt 2H| 9,900
oca3x52=2 % MA 600
o2dsY 4,320
o g | 10,000
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X:(2000) AFSIJHEEHl  2H:(2200) AL MESHHINA Bt (2210)2H - B Mg (2213) B 22 MIKIEE: (210) 2 ALY EEMEEERCE]
L = S == S i}
O]l At o A = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
200 [2 146,636,230 & 11,909,846 X 0 0]
AHSS Ol A 158,564,306/ 140,460, 168 18,104,138 [ 18,230 2 0 o 0 ]
210 [2 146,636,230 & 10,418,846 X 0 2 0]
BXALY 157,073,306 135,399, 168 21,674,138 [7J| 18,230 = 0 0 ]
202
o H 18,230 13,630 4,600
13,230 13,630 A400(01 2LH0iH|
o2ULH FOUXAAMY FEAE HY L BESAE XZA
3,230,000 x 14l = 3,230
(71 3,230
CQLAZTAURMARIM FX L 2HLE XFH2L
10,000,0002 x 14! = 10,000
(21 10,000
5,000 0 5,000/03 =2/ 0]
oQAEARURIN MEKX AS 5,000,0002 x 1&l = 5,000
(21) 5,000
403
XSS 157,055,076/ 135,355,538 21,699,538
NNl P
157,055,076/ 135,355,538 21,699,538 |01 XXM X
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X:(2000) AFSIJHEEHl  2H:(2200) AL MESHHINA Bt (2210)2H - B Mg (2213) B 22 MIKIEE: (210) 2 ALY EEMEEERCE]
! = "SI R Hl mi _
O]l At o At = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
oL AMAEAT KA
22,976,520 x 23IHA x 60% = 317,076
(2) 264,230
() 52,846
o AT HAEZSLHAAA AX(3MA) 23,333,000
(=) 23,333,000
CORME R 2Z A AN CHT]
7,834,000,0002 x 19HA x 100% = 7,834,000
(2) 7,834,000
- ®OF 4AFRACHR|
2,979,000,0002 x 1JHA x 100% = 2,979,000
(=) 2,979,000
- OFAF Q1= {AFICHT]
12,520,000,000 x 1IHA x 100% = 12,520,000
(2) 12,520,000
o= 2O HLZSLUHMEIALE X 1,520,000
(2) 1,520,000
~ OF XN /\}_‘C.,—__;n_l'\:}m
1,520,000,0002 x 1JHA x 100% = 1,520,000
(=) 1,520,000
o XSG HSIALY 6,139,000,000& x 70% = 4,297,000
(=) 4,297,000
oRLMHElAE BLBAA
1,606,000,0002 x 80% = 1,285,000
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0A

:(2000) At 3100 ]

Mg (2213)=Z 2 e|

HIAIE: (210) B = AL

el H ]

t 5 | oy Il
I o B NIE . HIAIE e oo = oA Y & = !
,285,000
OEMHATTHIIAL AXAY ,316,000
,170,000
146,000
ootEELH2IE AX , 720,000
,500,000
,220,000
OBt HFHIAIY 58,206,000,000& x 70% 744,000
744,000
obtaHEl4 THOIS AIYAN (204 ) ,250,000
,250,000
- 2= staHels Mol
9,500,000,0002 x 70% 6,650,000
6,650,000
S @O BtaHElS Mol
8,000,000,0002 x 70% 5,600,000
5,600,000
oMBR5ID OIELIE SHEA X4
546,000,0002 x 50% 273,000
273,000
220
Xt AHS 1,491,000 5,061,000 3,570,000
201
At A 32,000 55,000 A23,000
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1 (2000) ABI NS H|  2H:(2200) 2L MEBZNA & (2210) 22 - B HI&H: (2213) 4 E 22 HIKIBE: (220) X HI AL ERNELRED
t = 7SI E I = I = Il
Ol &b o A = J| x
I o B NIE . HIAIE = of A M| = oA
OOIE| 29| Z=OIHY ABITA X
100,000,0002 x 50% = 50,000
403
XX EHH S 1,183,000 4,975,000 A3,792,000
XH=20| &
1,183,000 4,975,000, A3,792,000/01 KXISHHK2L2=X
oXlate Hz=zel 2,500,0002 x 1002 x 30% = 75,000
COIELI2 ZE3IRA MY
2,000,000,0002 x 50% = 1,000,000
oAbt 22 staE H| 100,000,0009 x 50% = 50,000
o4 BEE 5iE FH 100,000,0002 x 50% = 50,000
oMY o TESIFA AE 16,000,000& x 50% = 8,000
A =& & A 215,235,656 192,528,193 22,707,463
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